PRADHAN MANTRI GRAM SADAK YOJNA PACKAGE SUMMARY

PACKAGE NO: JK01--303

STATE: JAMMU & KASHMIR

District Anantnag PIU Kulgam

1									Amoun	Amount In lacs of Rupees	f Rupee	S	
S S	Name of Block	Name o	Name of Road	Type of Proposal	Proposed Length	Type of Proposed Cost of No. of CD Proposal Length Pavement Works	No. of CD Works	Cost of CD CD Works	Misc. Cost	Total Estimated Cost (in lacs)	imated lacs)	Average Cost/Km (in lacs)	cs)
		From	То	N/N	Kms	In Lacs	Nos	Nos In Lacs InLacs	InLacs	Const. Cost	Maint. Cost	Const. Cost	Maint. Cost
-	Qazigund	Uril	Verinar	N Stage-I	2.00	210.60 321.26	SC=09 PC=22	7 / 2 · 0 × 108:03-	0.00	430.62		06.1x 193.86 52.83	
								Total Esti	mated C	Total Estimated Cost of Package:=	kage:=	RS.	549.290 lac
	-	The state of the s	The same of the sa	-	-	-	-	-	and I	The same of the sa	The state of the s	1	111

Scrutiny done by Name: F. A. HUR & Recharged for Rs. 430.62 Lan

State Technical Agency for PMGSX

Designation: Asstt.Ex.Engineer

Signature Name:

Prepared By:

*N-New Connectivity

Checked By: Signature

Name:

Coordinator STA Signature

District: Kulgam		PRADHAI	N MANTRI GR.	PRADHAN MANTRI GRAM SADAK YOJANA (PMGSY) SUMMARY SHEET	NA (PMGSY)	Road: Uril to Verinar	erinar			
Length: 5.00Km							Form	Format F-1		
		37 77 1		'n	Unconnected Habitations	itions				166
Name of Block	Code	Habitations	>1000	500-999	250-499 Total	Eligible	<250 Total E	Total Elogible Habitations		
Oazigund		-								
				Estimate	Estimated Cost (Rs. In lacs)		No. of unconnect	cted		
Type of Proposal	No. of Roads	Total length of Roads (Km)	No. on New CD Structures	Pavement from Format F-5	CD Structures from Format F-6	Total (5)+(6)	connected habitation befified	ation		13.3
New Connectivity	-	5.00	SC= C C PC=22	21.00.0017	198.03- 217:07	549-29	-	1		
		7			1/2		tay.		1. 430.6	9
	Do 1	Second Second	Strate of one of	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\				Kech is	Kechedra the 13 hourses.	,
400	200.	72/2		\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\					3	1
	7	1)	\ /			10		TE T	1
Junior Engineer	京	_	1	Assistant Engineer	Le		Executive Engineer		Jak .	1122
		2							Goor director	
						and the second		U)	tate Technics	
					1					
										1

							ROADS	PROPO	PRADHAN MANTRI GRAM SADAK YOJANA (PMGSY) ROADS PROPOSED IN PMGSY RURAL CONNECTIVITY (PAVEMENT LAYERS)	TRI GRAM SA	ADAK YOU	ANA (PMG	ISY)	(ERS)							
		District: Kulgam									Paci	Package No:	L					Format-F-2A	t-F-2A		Г
	1	Name of	Name of Habitation	ž	New			ed/				Details o	Details of thickness & Const. of Pavement Layers (Rs. In lacs)	Const. of Pa	vement Lay	ers (Rs. In	acs)				-
on's	Block Name o	Connecte	Connected/Benified	Asso	iate ab/	Facility	osd Leng	Existing (T easth	Details	Clearing/ Grabbing	Earth Sub	GSB bgarede Sut	Subgarede Sub-base III III	G. WBM G	BOE	Drain	ck ck	Surface Dressing	Dressing Road Seal Coat	Cost Rs.	
		From To		Z	n 1	,	R	ns				Peperation					500	_	1		_
-		2 3		4 5	6 7	80	σ	10	11	1 12	13	14	15	16 17	7 18	19	20	21	22 23	3 24	
			JK.						Thickness(mm)				14000000 140000000000000000000000000000								
-	Qazigund	und Urit	Verin	z			9.00		Cost Rs. In Lacs	8-19, 72.78	2 25 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	29.12	A SEM SE		24	0.25			2.57	276-40 218-60	1
Jun	Junior Engineer	neer				Assistan	Assistant Engineer								Executive Enginee	Hainee					

PROJECT COSTING SUMMARY

Abstract of cost for the scheme Construction of Road from Uril to

is a wind to	Verinar Road		
S.No	Particulars	Unit	Amount (in lacs)
1	Construction of Embankment		
a	Clearing/Grabbing of road Ind including uprooting of stamps.	Cum	3.94- 6.19 0.45
b	Earthwork in Embankment	Cum	71.75
С	Earthwork in Excavation	Cum	64.12
d	Granular Sub-Base (GSB)	Cum	27.770 TE 103.76
2	Cross Drainage Works		2.7.02 72103
a	1x5M span Culvert (03 Nos)	No.	
b	1x3.00m Span culvert (04 Nos)	No.	185.190
C	1x10.00m Span culvert (02-Nos)(01 NO	No.	198.97
3	Unlined Surface Drain (1500)	RM	0.250= 0.27
4	RCC Pipes (NP3)	RM	12.84 @ 13.15
	Protection Works		
	Retaining Wall LOOD RM 500 RM	RM	214.980 109.18
t	Retaining Wall JOHORM 500 RM Breast Wall 330RM 200 RM	RM	
-	Road Furniture		2.570 2.57
	TOTAL		519.290
	Asstt. Ex. Engineer PMGSY S/D Kulgam	Executive Eng PMGSY Div. K	519.290 1+++-15 430.62 ineer ulgam

Page No:

Government of Jammu & Kashmir

Office of the Superintending Engineer PMGSY (JKRRDA) Circle Srinagar

Managing Partner:- Ghulam Mohi-ud-din Shaikh, S/o Habibullah Shaikh, R/o Bhan, Kulgam.

No.SE/PMGSY/S/DB/ 1885-88

Dated: 2-3-11-2016

Subject:-

Letter of Acceptance.

Dear Sir.

This is to notify that your bid in response to the N.I.T No.33/CE/PMGSY/Kmr/ e-tendering of 2016-17 Dated:- 17.10.2016 issued by Chief Engineer PMGSY (JKRRDA) Kashmir for the work "Construction of road from Uril To Verinar" Stage-I, Package No.JK01-303, Phase-X" is hereby accepted for a contract price of Rs.32172378.69 (Rupees Three Crore Twenty One Lakhs Seventy Two Thousand Three Hundred Seventy Eight & Sixty Nine Paisa Only) on quoted rates with the following break up:-

1. Construction Part:-

Rs. 32172378.69

(Rupees Three Crore Twenty One Lakhs Seventy Two Thousand Three Hundred

Seventy Eight & Sixty Nine Paisa Only)

2. Maintenance Part:-

Nill

Total:-

Rs. 32172378.69

(Rupees Three Crore Twenty One Lakh Seventy Two Thousand Three Hundred Seventy Eight & Sixty Nine Paisa Only).

You are hereby advised to furnish Performance Security in the form of Bank Guarantee / Fixed Deposit Receipt for an amount of Rs.804309.00 (Rupees Eight Lakh Four Thousand Three Hundred & Nine Only) valid upto 18.07.2023 and Additional Performance Security on account of unbalanced bid for an amount of Rs.1608619.00 (Rupees Sixteen Lakh Eight Thousand Six Hundred Nineteen Only) valid up to 03.06.2018 within a period of Ten (10) Days from the date of issue of this letter of acceptance i.e 23.11.2016 and sign the contract, failing which action as stated in relevant Clause of ITB of Bidding Document will be taken.

Superintending Engineer PMGSY (JKRRDA) Circle Srinagar

Copy to the:-

7. Chief Engineer PMGSY (JKRRDA) Kashmir for kind information.

8. State Level I.T Nodal Officer PMGSY (JKRRDA) J&K for information. .

9. Executive Engineer PMGSY Division Kulgam for information

10. Head Draftsman Circle Office for information.

11. Concerned File.

12. Master File.

Government of Jammu & Kashmir

Office of the Superintending Engineer PMGSY (JKRRDA) Circle Srinagar

M/s Bhan Construction Group,
Managing Partner:- Ghulam Mohi-ud-din Shaikh,
S/o Habibullah Shaikh,
R/o Bhan, Kulgam.

No.SE/PMGSY/S/DB/ 2/13-16

Subject:- Notice to proceed with the work.

Dated:- 13 -12-2016

Reference:- Letter of acceptance issued vide this office letter No.SE/PMGSY/S/DB/1885-88 Dated:- 23.11.2016.

Dear Sir,

Pursuant to your furnishing the requisite Performance Security in the shape of bank guarantee, as stipulated in ITB Clause 32.1 and signing of the contract for "Construction of road from Uril To Verinar" Stage-I, Package No.JK01-303, Phase-X" you are hereby instructed to proceed with the execution of the said work in accordance with the contract documents.

Reckoned date of start:- >> -12-2016 Time for completion:- 365 (Days)

All the terms and conditions of this contract shall be same as indicated in the bidding document for the work and shall be binding upon the contractor.

A copy of the contract / agreement is enclosed for reference.

Superintending Engineer

MGSY (JKRRDA) Circle Srinagar

Copy to the:-

1. Chief Engineer PMGSY Kashmir for kind information.

2. State Level I.T Nodal Officer PMGSY J&K for information. .

3. Executive Engineer PMGSY Division Kulgam for information and necessary action.. A copy of the contract - document executed with the contractor along with copy of performance bank guarantee is enclosed for reference and record. The necessary confirmation from concerned branch regarding Structured Financial Messaging System (SFMS) be obtained to make the bank guarantee operative as per the provision of the Bank Guarantee before entertaining any claim from the contractor The balance performance security of 2.5% be recovered from the contractor as per clause No.32 of ITB of Bidding Document.

4. Technical Officer to Superintending Engineer PMGSY Circle Srinagar for information.

5. Head Draftsman Circle Office for information.

6. Concerned File.

7. Master File.



This agreemed Superintending and M/s Bhan Whereas the road from "Laccepted the lof any defect	Employer is desirous to Jril To Verinar", Stagn bid of the Contractor for the therein at a cost of the there is a cost of the the the cost of the there is a cost of the the there is a cost of the there is a cost of t	cle Srinag (herein af hat the Co je-I, Phas	ar (herein after ter called "the contractor executive.", Package	called "the Employer") of the one part, ontractor" of the other part). The the work namely "Construction of No.JK01-303, and the Employer has etion of such works and the remedying the Sixty Nine Paisa Only) with the
following brea	Construction part:- Maintenance part:-	Rs. Rs.	32172378.69 Nill 32172378.69	(Rupees Three Crore Twenty One
1	Total			Three Hundred Seventy Eight & Sixty Nine Paisa Only)

- NOW THIS AGREEMENT WITNESSETH as follows:-A. In this Agreement, words and expression shall have same meanings as are respectively assigned to them in the Conditions of contract herein have referred to, and they shall be deemed to form and be read and construed as part of this Agreement.
- B. In consideration of the payment to be made by the Employer to the Contractor as hereinafter mention, the contractor hereby covenants with the Employer to execute and complete the works and remedy any defects therein in conformity in all aspects with the provision of the
- C. The Employer hereby covenants to pay the contactor in consideration of the execution and completion of the works and the remedying the defects within the contract Price or such other sum as may become payable under the provisions of the contract at the times and in the manner prescribed by the contract.

CONTRACTOR

Superintending Engineer PMGSY (JKRRDA) Circle Srinagar

Page 1 of 2

Rate Structure for Construction of road from Uril To Verinar (Stage-I), Phase-X. Package No.JK01-303.

Allotted To M/s Bhan Construction Group.

100	Allotted To M/s Bhan Constr		Rebate of	20% on all ite	inis
1.	Item Description	Qty	Unit	Rate	Amount
0.	Part:- A Site Clearance Clearing and grubbing road land including uprooting wild vegetation, grass, bushes, shrubs, saplings and trees of girth upto 300 mm, removal of stumps of such trees cut earlier and disposal of unserviceable materials and stacking of serviceable material to be used or auctioned, upto a lead of 1000 m including removal and disposal of top organic soil not exceeding 150 mm in thickness as per Technical	3.81	Hect	35258.63	134335.38
2	Specification Clause 201. Uprooting and Removing Stumps & roots, compaction of backfilling and stacking of servicable material by manual means as per Technical Specification Clause 201.		No	149.10	134190.00
	means as per reciment	900.00	No.	233.61	100452.30
1)	Girth 300mm to 600mm	430.00	No.	500.06	75009.00
)	Girth 600mm to 900mm	150.00	No.	300.00	
3	Girth 900mm to 1800mm Dismentalling of existing structures like culverts, bridges, retaining walls and other structures comprising of stone masonry including disposal of unserviceable material and stacking of serviceable material with all lifts and lead of 1000m as per technical specification clause 202. (Dismentaling stone pitching/dry stone spalls)	718.11	Cum	206.60	148361.53
4	by mechanical means including cutting and trimming of slopes and disposal of cut material with a lift upto 1.5 m and slopes and control of the control of th	9921.00	Cum	229.81	2281323.87
5	Excavation in soil in Hilly Area by manual media in the control of cutting and trimming of side slopes and disposing of excavated earth with a lift upto 1.5 m and a lead upto 20 m excavated earth with a lift upto 1.5 m and a lead upto 20 m excavated earth with a lift upto 1.5 m and a lead upto 20 m	31095.15	Cum	132.84	4130677.07
6	Construction of embankment with approved materials and excavation from deposited at site from roadway cutting and excavation from drain and foundation of other structures graded and compacted to meet requirement of Tables 300.1 and 300.2 compacted to meet requirement of Tables 301.5	12373.00	Cum	68.30	845075.90
7	Construction of unlined surface drains of average cross-sectional area 0.40 sqm in ordinary rock to specified lines grades, levels and dimensions. Excavated material to be used in embankment with a lift upto 3m and lead of 50 m (average lead 25 m) as per Technical Specification Clause 307.	2900.00	RM	18.22	52838.00

Contractor DM

dy.

OF TO

AN AO

SE

Page 1 o

Rate Structure for Construction of road from Uril To Verinar (Stage-I), Phase-X. Package No.JK01-303.

Allotted To M/s Bhan Construction Group.

	Allotted To W/S Bilair Collst.		Rebate o	f 20% on all ite	ems
	Item Description	Qty	Unit	Rate	Amount
	Reinforced cement concrete M15 grade 200 Mt stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing	20.00	No.	451.20	9024.00
3	and Technical Specification Clause 1703 Reinforced cement concrete M15 KM stone stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification Clause 1704	6.00	No.	2091.56	12549.36
4	Reinforced cement concrete M15 grade boundary pillars/local stone of standard design as per IRC:25, fixed in position including finishing and lettering but excluding painting as per drawing and Technical Specification Clause 1704	50.00	No.	481.44	24072.00
5	Construction of back pillars in front of each reference pillar	5.00	No.	24124.00	120620.00
6	Construction of job pillars in front of each reference pillar as	40.00	No.	610.74	24429.60
7	Construction of reference pillars as per Fig. 1600.1 (b) as per drawing and Technical Specification Clause 1602.1	5.00	No.	7551.25	37756.25
	Providing and fixing of retro-reflectorised cautionary, mandatory and informatory sign as per IRC:67 made of encapsulated lens type reflective sheeting vide Clause 1701.2.3 fixed over aluminium sheeting, 1.5 mm thick supported on a mild steel angle iron post 75 mm x 75 mm x 6 mm firmly fixed to the ground by means of properly designed foundation with M15 grade cement concrete 450 mm x 450 mm x 600 mm, 600 mm below ground level as per drawings and Technical Specification Clause 801	10.00	No.	1620.53	16205.30
	Total Estimated Cost				40215473.3
	Rebate of 20%				8043094.67 32172378.6
	Net Amount			1	32112310.0
	Contractor	man		HeadDra	ftsman

I/c Technical Officer

Contractor

Accounts Officer

Superintending Engineer PMGSY (JKRRDA) Circle Srinagar